## CS2SD/EE387 - LECTURE 5 - ALGORITHMS for REED-SOLOMON CODES!



an  $O(n^2)$  - time elg, which can be made to run in time O(nlog(n)) with FFT tricks.

In 1986, Welch + Berlekamp came up w/ another decoding alg - it is a bit slower but it is

really pretty, so we'll start with that.

Than RS codes started to be used all over the place! CDs, satellites, QR codes,...

() WELCH - BERLEKAMP ALGORITHM

PROBLEM(Decoding RSq(
$$\hat{x}, n_i k$$
) have  $e \in \lfloor \frac{n-k}{2} \rfloor$  Errors)Given  $W = (W_1, ..., W_n) \in \mathbb{F}_{2}^{n}$ , find a polynomial  $f \in \mathbb{F}_{2}[X]$  so that:  
 $dag(f) \leq k$   
 $f(\alpha_i) \neq w_i$  for st most  $e \leq \lfloor \frac{n-k}{2} \rfloor$  values of  $i$ ;  
or else return  $\bot$  if no such polynomial exists.IdeaConsider the polynomial  $E(X) = TT (X - \alpha_i)$ .  
 $1:w_i \neq f(\kappa_i)$ This is called the "error locator polynomial."  
(Notice that we don't know what't is...)  
Then  $\forall i$ ,  $W_i \cdot E(\alpha_i) = f(w_i) \cdot E(\alpha_i)$ Coll this Q(w\_i)ALCORITHM  
 $(Berlekhart Welch)$  $O$  $O$  $i \in [X_i] = Q(\alpha_i) \forall i$   
 $i \in [X_i] = Q(\alpha_i) \forall i$  $i \neq deg \leq e \neq k-1$   
 $i \in [\alpha_i) = Q(\alpha_i) \forall i$   
 $i \neq degn't exist, REURN  $\bot$ . $(Z)$   
Let  $\tilde{f}(X) = Q(X) / E(X)$   
 $If  $A(\tilde{f}, w) > e:$   
RETURN  $\tilde{f}$$$ 

1. How do we find such polys? 2. Once we do, why is it correct to return Q/E? What if we didn't find the "correct" Q and E?

Let's answer QUESTION 2 first.

CLAIM. If there is a degree 
$$\leq k-1$$
 poly  $f$  s.t.  $\Delta(f, w) \leq e$ , then there exists  
E and Q satisfying (\*).  
proof. Let  $E(X) = \left[ \prod_{i:w: \neq f(x_i)} (X-x_i) \right] \cdot X^{e-\Delta(f,w)}$   
Let  $Q(X) = E(X) \cdot f(X)$ .

CLAIM. Suppose that 
$$(E_1, Q_1)$$
,  $(E_2, Q_2)$  BOTH satisfy the requirements  
in STEP (1). Then:

$$\frac{Q_1(X)}{E_1(X)} = \frac{Q_2(X)}{E_2(X)}$$

proof. Consider 
$$R(X) = Q_1(X) E_2(X) - Q_2(X) E_1(X)$$
  
deg serk-1 deg e  
 $deg(R) = 2e + k - 1$ , and  $\forall i \in \{1, ..., n\}$ , This is where  
 $we need e \in [\frac{n-k}{2}]$   
 $R(A_i) = [w_i \cdot E_1(A_i)] \cdot E_2(A_i) - [w_i \cdot E_2(A_i)] \cdot E_1(A_i) = 0$   
Hence R has at least n roots. Since  $e < \frac{n-k+1}{2}$ ,  $2e + k - 1 < n$ .  
So  $R = 0$  is the all-zero polynomial. (Low degree polynomials  
don't have too many robs!)

Together, these CLAIMS answer QUESTION 2.  
Maving on to QUESTION 1. How do we find E, Q? POLY NOMIAL INTERPOLATION!  
More precisely, we want:  

$$W_i \cdot E(w_i) = Q(w_i)$$
 for  $\tau = 1,..., n$ ,  $dag(E) = e$ , E monic  
 $dag(Q) \leq e+k-1$ .  
 $n$  linear constraints.  
 $e + (e+k) = 2e+k$  variables,  
which are the coefficients on these two  
polynomials.  
That a solution exists (assuming fdoes).  
So solve this system of eqs to find  $k!$   
 $[Notice that 2e+k < (n-k+1)+k \leq n$ , so the system looks like.  
 $[Notice that 2e+k < (n-k+1)+k \leq n$ , so the system looks like.  
 $[Notice that 2e+k < (n-k+1)+k \leq n$ , so the system looks like.  
 $[Notice that 2e+k < (n-k+1)+k \leq n$ , so the system looks like.  
 $[Notice that 2e+k < (n-k+1)+k \leq n$ , so the system looks like.  
 $[Notice that 2e+k < (n-k+1)+k \leq n$ , so the system looks like.  
 $[Notice that 2e+k < (n-k+1)+k \leq n$ , so the system looks like.  
 $[Notice that 2e+k < (n-k+1)+k \leq n$  for polynomial civision.  
 $[Notice that 2e+k < (n^2)$  for polynomial civision.  
 $[Notice that  $xe$  there  $O(n^2)$  for polynomial civision.  
 $[Notice that  $xe$  the  $O(n^2)$  for polynomial civision.  
 $[Note (2 + k] + k = (n^2) + (n^2)$$$ 

 $\Rightarrow O(n^3)$  total.

Let H be the parity-check matrix for our RS code. I'm actually going to cheat a bit and add a now of ones on top, so that  $H = G^T$  for some RS generator matrix G, since it makes the exposition a bit nicer. Everything in sight is a generalized RS code, so it duesn't matter too much.

												-
S°	let	Н	=	1	1	1	1	•			1	
_		-		1	Y	$\gamma^2$	$\gamma^3$	••		ſ	X <sup>n-1</sup>	
				1	γ²	۲ <sup>ч</sup>	J.	•-•		γ	U į(n−1)	
				•	:	U				Ū		
				1	y <sup>n-k</sup>	-1	· • •		ſ	Y <sup>(n-k-</sup>	-1)(n-1)	)
										•		

We will do SYNDROME DECODING (like for Hamming cocles). That is, suppose W = C + e, and we can compute

$$H \cdot W = H \cdot c + H \cdot e = H \cdot e$$
, since  $H \cdot c = O \forall c \in C$ 

Our goal will be to use H.e (the "STNDROME") to recover E(X), the error locator polynomial.  $E(X) = TT(X-\gamma^{i})$  here I'm specializing to this particular order on evel pts blc we picked H as above.  $i: e: \neq 0$ 

... but in fact it is a good plan:

PROP. Suppose that wt(e)=t, and that 
$$\langle e, X^{c}f(X) \rangle = 0$$
 for  $r=0, -, t=1$ .  
Then  $E(X) | f(X)$ .  
In particular, if  $deg(f) \leq t$ ,  $E(X) = \alpha \cdot f(X)$  for some  $\alpha \in F$ .<sup>\*</sup>  
Proof: If  $\langle e, X^{c}f(X) \rangle = 0$   $\forall r=0, ..., t=1$ , then by linearity,  
 $\langle e, g(X) \cdot f(X) \rangle = 0$   $\forall r=0, ..., t=1$ , then by linearity,  
 $\langle e, g(X) \cdot f(X) \rangle = 0$   $\forall g \in F_{2}[X]$  with  $deg(g) \leq t=1$ .  
For any  $k$  s.t.  $e_{k} = 1$ , let  $g_{k}(X) = \frac{E(X)}{X - \gamma^{k}} = \operatorname{TT}(X - \gamma^{i})$ .  
Then  $dag(g) \leq t=1$ , hence.  
 $0 = \langle e, g(X) \cdot f(X) \rangle = \sum_{i=0}^{n-1} e_{i} \cdot g(\gamma^{i}) \cdot f(\gamma^{i}) = e_{k} \cdot g(\gamma^{k}) \cdot f(\gamma^{k})$   
Hence,  $f(\gamma^{k}) = 0$ . So  $(X \cdot \gamma^{k}) | f(X)$   $\forall k \in e_{k}=1$ , hence  $i = (X - \gamma^{i}) \cdot f(\gamma^{k})$ .  
OK, so our plan is a good one. Let's try to find  $f$  so that:  
 $\cdot clag(f) \leq t$   
 $\cdot \langle e, X^{c} \cdot f(X) \rangle = 0$   $\forall r=0, ..., t=1$ .  
To this end, define: span(f) = the smallest  $r$  st.  $\langle e, X^{c} \cdot f(X) \rangle \neq 0$   
 $disc(f) = \langle e, X^{span(f)} \cdot f(X) \rangle$  is that nonzero value.

[This page skipped in class]

USEFUL LEMMA: If deg(g) < span(f), then 
$$deg(g) + span(g) < deg(f) + span(f)$$
.  
Proof: First, suppose that  $deg(g) = span(f)$ , say  $g(X) = \alpha \cdot X^{span(f)} + STUFE$ .  
Then  $\langle e, g(X) \cdot f(X) \rangle = \langle e, (g(X) \cdot \alpha X^{sp(f)}) \cdot f(X) \rangle + \langle e, \alpha \cdot X^{sp(f)} \cdot f(X) \rangle$   
 $deg(e < span(f))$   
In particular, ONE of the terms that shows is NUNZEEO.  
up in f, say X' for  $c \leq deg(f)$ , hus  
 $\langle e, g(X) \cdot X^c \rangle \neq 0$ , thence  $span(g) \leq c \leq deg(f)$ .  
Then  $deg(g) + span(g) \leq span(f) + deg(f)$ .  
Next, if  $deg(g) < span(f)$ , apply the above to  $X^{span(f) - deg(g)} \cdot g(X)$ .  
  
COR. IF  $span(f) \geq t$  then  $span(f) = \infty$ .  
  
proof: Say  $span(f) \geq t$  but is finite. Then  $dg(E) - t \leq span(f)$ .  
 $deg(E) + span(E) \leq clag(f) + span(f)$   
 $finite. Contradection!$ 

Again, our goal is to come up 
$$\omega$$
/ some function  $\omega$ / large span.  
The following lemma will tell us how to get this.LEMMASuppose span(f)=r, disc(f)= $\mu$ Recall this means that  
 $\langle e, x^{i} f(x) \rangle = \mu$ , and  
 $\langle e, x^{i} f(x) \rangle = 0$ Suppose span(g)=c, disc(g) =  $\gamma$ AND say that  $c \leq r$ .  
Then  $h(x) = f(x) - (\frac{\mu}{\nu}) \cdot X^{c-r} \cdot g(x)$  has  
span(h)  $\geq$  span(f).The point of this lemma is that, given f and g with reasonably close spans,

we can combine them to get h w/ a strictly bigger span and degree not too much larger.

Just consider

bt

$$\leq e, X^{i} \cdot \left[f(X) - \left(\frac{M}{\nu}\right)X^{c-r}g(X)\right] >$$
$$= \leq e, X^{i}f(X) > - \left(\frac{M}{\nu}\right) \leq e, X^{c-r+i}g(X) >$$

If 
$$i < r$$
, then both terms are  $O$  since  $sp(f)=r$ ,  $sp(g)=c$ .  
If  $i=r$ , then we have  $\mu - (\frac{m}{2}) \cdot \nu = O$ .

Hence sp(h)>r.

$$\begin{array}{c} \mathsf{AlgORITHM} & (\mathsf{BerleKAMP-MASSEY}): \\ \hline \\ \mathsf{hibalize} & \mathsf{f} \in \mathsf{1}, \mathsf{g} \in \mathsf{O} \\ \mathsf{fr} & \mathsf{m} = \mathsf{O}, ..., \mathsf{ZE-1}: \\ \hline \\ \mathsf{C} \in \mathsf{oleg}(\mathsf{f}) - \mathsf{4} \\ \mathsf{r} \in \mathsf{m} - \mathsf{c} - \mathsf{i} \ (\mathsf{cm}, \mathsf{dq}(\mathsf{f})) \\ \mathsf{r} \in \mathsf{m} - \mathsf{c} - \mathsf{i} \ (\mathsf{cm}, \mathsf{dq}(\mathsf{f})) \\ \mathsf{fr} \in \mathsf{m} - \mathsf{c} - \mathsf{i} \ (\mathsf{cm}, \mathsf{dq}(\mathsf{f})) \\ \mathsf{fr} \in \mathsf{m} - \mathsf{c} - \mathsf{i} \ (\mathsf{cm}, \mathsf{dq}(\mathsf{f})) \\ \mathsf{fr} = \mathsf{O} \ \mathsf{or} \ \mathsf{r} \in \mathsf{C}: \\ \mathsf{fr} = \mathsf{O} \ \mathsf{or} \ \mathsf{r} \in \mathsf{C}: \\ \hline \\ \mathsf{f} \mathsf{fr} = \mathsf{O} \ \mathsf{or} \ \mathsf{r} \in \mathsf{C}: \\ \hline \\ \mathsf{f}(\mathsf{X}) \in \mathsf{f}(\mathsf{X}) - \mathsf{\mu}, \mathsf{X}^{\mathsf{cr}}, \mathsf{g}(\mathsf{X}) \\ \mathsf{fr} \mathsf{fr} \mathsf{fr} \mathsf{s} \mathsf{port}[\mathsf{h} = \mathsf{c}, \mathsf{dred}\mathsf{s} \mathsf{fr}\mathsf{g}\mathsf{s} \mathsf{hat} \\ \mathsf{f}(\mathsf{X}) \in \mathsf{f}(\mathsf{X}) - \mathsf{\mu}, \mathsf{X}^{\mathsf{cr}}, \mathsf{g}(\mathsf{X}) \\ \mathsf{fr} \mathsf{g}(\mathsf{X}) = \mathsf{g}(\mathsf{dred}\mathsf{g}) = \mathsf{f}, \mathsf{dred}\mathsf{s} \mathsf{dr}\mathsf{g} \mathsf{s} \\ \mathsf{son}(\mathsf{f} + \mathsf{r}, \mathsf{spar}[\mathsf{f}] = \mathsf{c}, \mathsf{dred}\mathsf{g}) = \mathsf{f}, \\ \mathsf{g}(\mathsf{X}) \in \mathsf{g}(\mathsf{X}) \\ \mathsf{else}: \\ \mathsf{f}(\mathsf{X}) \in \mathsf{g}(\mathsf{X}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{f}(\mathsf{X}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{f}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{f}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{f}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}) \\ \mathsf{g}(\mathsf{fr}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g}) \\ \mathsf{fr} \mathsf{g} \in \mathsf{g} = \mathsf{O} \\ \mathsf{fr} \mathsf{g} = \mathsf{g}) \\ \mathsf{fr} \mathsf{g} = \mathsf{g}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} = \mathsf{g}) \\ \mathsf{fr} \mathsf{g} = \mathsf{g}(\mathsf{g}) \\ \mathsf{fr} \mathsf{g} = \mathsf{g}) \\ \mathsf{fr} \mathsf{g} = \mathsf{g} = \mathsf{O} \\ \mathsf{fr} \mathsf{g} = \mathsf{g}) \\ \mathsf{fr} \mathsf{g} = \mathsf{g} = \mathsf{g} \\ \mathsf{fr} \mathsf{g} \\ \mathsf{fr} \mathsf{g} \\ \mathsf{g} \\ \mathsf{fr} \mathsf{g} \\ \mathsf{fr} \mathsf{g} \\ \mathsf{$$

Chrisphoof skipped in class 3  
Proof. The base case (after 
$$m = -4$$
) is easy.  
Let  $m \ge -4$  and assume by induction that  
(1) f is monic and deal(f) typen(f) > m.  
(2) EITHER  $q = 0$  OR:  
 $proon(g) = deg(f) - 1$   
 $proon(g) = deg(f) - 1$   
 $proon(g) = deg(f) - 1$   
 $proon(g) = deg(g) \le m$   
 $disc(g) = 1$ .  
CASE 1.  $\mu = 0$ . Thun f and g are unchanged.  
Note there spen(f) > m - deg(f) f(x) >  $\mu = (x)$   
 $q(x) = \frac{1}{p(x)} =$ 

$$\frac{COR}{If m \ge 2t - 1}, \text{ then after iteration } m, f(X) = E(X).$$

proof. First notice that deg 
$$(f(X)) \leq t$$
.  
Indeed, we've been maintaining span(g) = deg(f) - 1, so if deg(f) > t then sp(g) > t.  
By the USEFUL LEMMA (or rather, its core), we have span(g) =  $\infty$ .  
But we were also maintaining span(g) + deg(g)  $\leq m$ , so that's a  $Y$ .

Now, 
$$deg(f) + span(f) > m$$
  
 $\Rightarrow span(f) > m - deg(f)$   
 $\geq (2t - 1) - t$   
 $= t - 1$ 

But this is what we wanted:  

$$p(f) \ge t \implies E(X) \mid f(X)$$
  
 $deg(f) \le t \implies E(X) = \alpha \cdot f(X)$  for some  $x \in \mathbb{T}^{\times}$   
 $fmonic \implies E(X) = f(X)$ .

Finally, recell that d = n - k + 1, and that the algorithm stops working (we stop being able to query  $\langle e, X^{c} f(X) \rangle = \mu$ ) when  $m \ge n - k$ , so we need  $2t - 1 \le n - k - 1$  $\exists ka \quad t \le \frac{n - k}{2} = \frac{d - 1}{2}$  which is where the algorithm should stop working.

HOWEVER! Notice that if t happens to be smaller, we can actually stop earlier, with only O(t) rounds. The polys we are working with all have deg  $\leq m = O(t)$ , and so we can do everything in poly(t) computations over Fig. That's sublinear time!!

> See "Syndrome Encoding and Decodiny of BCH Codes in Sublinear Time" by Dodis, Ostrovsky, Reyzin, Smith for details about making this real fast.]

All this just finds E(X). We still need to find the roots of E(X), and then figure out how to fix the errors.

- If you get Fancy, you can factor E(X) in time O(t<sup>1.gish</sup> log(n))
   C Subquadratic-time factoring of polynomials over finite fields" Kaltofen + Stroup 1995 ]
- To actually recover the message, we can't hope for sublinear time (since the message has length k = Rn), but we can how do that in time O(nlog(n))
   Via linear algebra. [The nlog(n) is b/c Vandamonda matrices admit a nice FFT-like]

That finishes the Berlekemp - Massey algorithm.

This algorithme can actually be implemented nicely in hardware Ethe update step can be done with a shift register] and so this is the alg. that's often used in practice for RS codes. (Or, optimized versions of this).

The Berlekamp-Welch alg is cartainly easier to understand, though!

## QUESTIONS TO PONDERS

 Fill in the details for the Berlekamp-Massey alg. [theore is one FUN EXERCISE in the notes and I anticipate we skipped Some proofs in class]
 Can you think of any other algs for RS codes?
 How would you adapt RS codes / these algorithms to come up with BINARY codes?